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Reg. No. : .....................................  Code No. 7049 

Name : ........................................   
   
  Time : 2½ Hours 
  Cool-off time : 15 Minutes 

 

Part – III 

ACCOUNTANCY WITH ANALYSIS OF FINANCIAL STATEMENT 
Maximum : 80 Scores 

 

General Instructions to Candidates : 
 There is a ‘cool-off time’ of 15 minutes in addition to the writing time of 2½ hrs. 
 You are not allowed to write your answers nor to discuss anything with others 

during the ‘cool-off time’. 
 Use the ‘cool-off time’ to get familiar with questions and to plan your answers. 
 Read questions carefully before answering. 
 All questions are compulsory and only internal choice is allowed. 
 When you select a question, all the sub-questions must be answered from the same 

question itself. 
 Calculations, figures and graphs should be shown in the answer sheet itself. 
 Malayalam version of the questions is also provided. 
 Give equations wherever necessary. 
 Electronic devices except non-programmable calculators are not allowed in the 

Examination Hall. 

 : 
    15  ‘  ’  .  

   ,     
 . 

      . 
    . 
       

     . 
  , , ,    

. 
   . 
    . 
      

     . 

Second Year – JUNE 2017 
SAY/IMPROVEMENT 
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PART – A 

     ACCOUNTING  

      (Maximum Scores : 40) 

1. When partnership agreement is silent, which of the following partner is entitle to get 

interest on capital ?  

 (a) Active Partner 

 (b) Partner who contributed largest amount of capital  

 (c) Guaranteed partner  

 (d) None   (Score : 1) 

 

2. Abraham, Basheer and Chellappan are partners sharing profits in the ratio of 5 : 3 : 2. 

Basheer retires. Find out the gaining ratio of Abraham and Chellappan.  (Score : 1) 

 

3. Which one of the items given below is not shown in the Receipt and Payment Account 

of a not-for-profit organisation ?  

 (a) Subscription  

 (b) Depreciation  

 (c) Sale proceeds of old furniture   

 (d) Grant-in-aid  (Score : 1) 

 

4. The excess of sports expenditure over sports fund of a club is shown on  

 (a) Liability side of Balance Sheet 

 (b) Debit side of Income & Expenditure Account  

 (c) Asset side of Balance Sheet   

 (d) Debit side of Receipt & Payment Account  (Score : 1) 

 

5. Write journal entry to charge interest on capital to partner ‘A’, partner’s capital being 

fluctuating.   (Score : 1) 

 

6. Lee and Pee are partners sharing profits in the ratio of 4 : 3. They admit Cee as a new 

partner. The new profit sharing ratio of Lee, Pee and Cee will be 2 : 3 : 1. Calculate the 

gain/sacrifice of Lee and Pee.  (Scores : 2) 



7049  3 P.T.O.  

PART – A 

     ACCOUNTING  

      (Maximum Scores : 40) 

1.        

    ?  

 (a)   
 (b)       
 (c)     

 (d)   ( : 1) 

 
2.    5 : 3 : 2     

.  .     
 .  ( : 1) 

 
3.      

      ?  

 (a) Subscription  
 (b) Depreciation  
 (c) Sale proceeds of old furniture   
 (d) Grant-in-aid  ( : 1) 

 
4.        

 ? 

 (a) Liability side of Balance Sheet 
 (b) Debit side of Income & Expenditure Account  
 (c) Asset side of Balance Sheet   
 (d) Debit side of Receipt & Payment Account  ( : 1) 

 
5.    ,  ‘A’  

    . ( : 1) 

 
6. ‘’ ‘’ 4 : 3     .  

‘’  .  /  (, ,  
) 2 : 3 : 1 .    / 
 .  ( : 2) 
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7. Give Journal entries for the payment of realisation expenses of a firm in the following 

circumstances :  

 (a) When it is paid by a partner on behalf of the firm.  

 (b) When it is paid by the firm. (Scores : 2) 

 

8. The subscription amount shown in the Income and Expenditure Account of Crazy Club 

is ` 62,500 on 31-12-2015.  

 Other information : 

 (a) Subscription outstanding for the year  : ` 19,500 

 (b) Subscription for 2015 received in advance in 2014 : `   3,000 

 What is the amount of subscription received during the year 2015 ?  (Scores : 3) 

 

9. A, B, C and D are partners of a firm sharing profits in the ratio of 2 : 1 : 2 : 1. ‘A’ 

retires. The goodwill of the firm is valued at ` 48,000.  B, C and D decided to share 

future profits equally. Show the necessary journal entry for the treatment of goodwill 

without opening Goodwill Amount.  (Scores : 3) 

 

10. What is accumulated profit and accumulated loss ? How these items will be treated at 

the time of retirement/death of a partner ? Give journal entries about them.  (Scores : 3) 

 

11. Light and Shade share profits and losses in the ratio of 3 : 2. They admit Bright 

agreeing to give 1/6 share in future profits. Light personally guaranteed that Bright’s 

share of profits, after charging interest on capital @ 10% p.a. would not be less than        

` 60,000 in any year. The capital contributed by Light, Shade and Bright are                   

` 5,00,000; ` 4,00,000 and ` 3,00,000 respectively. The profit for the year amounted to 

` 3,00,000 before charging interest on capital. Show the profit and loss appropriation 

account. The new profit sharing ratio is 3 : 2 : 1.  (Scores : 3) 
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7.        

 :  

 (a)     .  

 (b)   . ( : 2) 

 

8. 31-12-2015       

    62,500 . 

   : 

 (a)     : 19,500  

 (b) 2015   2014  advance     : 3,000  

 2015       ?  ( : 3) 

 

9. A, B, C, D  2 : 1 : 2 : 1     -

. A .  48,000  . B, C, D 

    . ‘’  

      . ( : 3) 

 

10.       ?   / 

      ?   

 . ( : 3) 

 

11. ‘’ ‘’  3 : 2   . 

 1/6   ‘’  . 

 10%      

‘’ 60,000    ‘’   

. , ,      5,00,000 

 4,00,000  3,00,000 .   ,  

    3,00,000 .     

  .     3 : 2 : 1 

.   ( : 3) 
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12. The Receipts and Payment Account of Elite Club for the year ending 31st March, 2014 

is given. Prepare the Income and Expenditure Account  for the year ended 31st March, 

2014 and the Balance Sheet on that date :  

Receipts and Payment Account of Elite Club  

for the year ending 31st March, 2014  

Receipts 
Amount 

(`) 
Payments 

Amount 

(`) 

Balance b/d 42,000 Salaries & Wages :  

Subscriptions :   2012-13 2,100  

 2012-13 4,500   2013-14         33,000 35,100 

 2013-14 64,300  Miscellaneous Expenses 12,000 

 2014-15           2,200 71,000 Stationery 6,400 

Entrance Fee 3,100 Match Expenses 15,200 

Revenue from  Match 18,000 Telephone  

Audit Fee 

1,050 

2,000 

  Balance c/d 62,350 

 1,34,100  1,34,100 

 Additional Information :  

 (1) Total members of the club is 7,000 and annual subscription of a member is ` 100. 

` 6,100 were in arrear for 2012-13 as on April 1, 2013.  

 (2) Stock of stationery as on March 31, 2013 was ` 650 and on March 31, 2014 was     

` 570. 

 (3) Outstanding Telephone charge as on 31st March, 2013 was ` 85 and on               

31st March, 2014 was ` 95. 

 (4) Book value of premises and building on 31-3-2013 was ` 2,40,000. Provide 

depreciation @ 5% p.a.  (Scores : 5) 
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12. 2014  31      & 

  . 2014  31-   

        

. 

Receipts and Payment Account of Elite Club  

for the year ending 31st March, 2014  

Receipts 
Amount 

(`) 
Payments 

Amount 

(`) 

Balance b/d 42,000 Salaries & Wages :  

Subscriptions :   2012-13 2,100  

 2012-13 4,500   2013-14         33,000 35,100 

 2013-14 64,300  Miscellaneous Expenses 12,000 

 2014-15        2,200 71,000 Stationery 6,400 

Entrance Fee 3,100 Match Expenses 15,200 

Revenue from Match 18,000 Telephone  

Audit Fee 

1,050 

2,000 

  Balance c/d 62,350 

 1,34,100  1,34,100 

   :  

 (1)     7,000-     

 100  . 2013  1-,  2012-13  

  6,100 .  

 (2)  , 2013  31-  650  2014   31-                    

570 . 

 (3)    2013   31- 85  2014  31-  

95 . 

 (4)    2013  31- 2,40,000 . 5% 

 . ( : 5) 
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13. Pushpa, Suma and Soonam are partners sharing profits in the ratio of 5 : 3 : 2. Their 

Balance Sheet as on 31st March, 2014 was as follows :  

 Liabilities 
Amount 

(`) 
Assets 

Amount 

(`) 

Creditors   15,000 Buildings  1,00,000 

Bills Payable 15,000  Machinery  20,000 

Bank Loan 60,000 Stock  80,000 

Loan from Pushpa’s Daughter 65,000 Bills Receivable 60,000 

General Reserve  40,000 Furniture 40,000 

Capitals :  Cash at Bank 30,000 

 Pushpa 35,000    

 Suma 45,000    

 Soonam   55,000 1,35,000   

 3,30,000  3,30,000 

 The firm was dissolved on that date. Close the books of the firm taking into 

consideration of the following information :  

 (1) Assets were realised as follows :  

  Buildings  ` 95,000 

  Bills Receivable  ` 55,000 

  Stock    ` 75,000 

  Machinery  ` 24,000 

  Furniture  ` 37,500  

 (2) Bank loan was settled for ` 65,000. Creditors and Bills payable were settled at 

10% discount.  

 (3) Suma paid the realisation expense of ` 5,000 and she was to get a remuneration of 

` 6,000 for completing the dissolution process.  

 Prepare necessary ledger accounts. (Scores : 6)   
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13. , ,   5 : 3 : 2     

. 2014  31     

 : 

Liabilities 
Amount 

(`) 
Assets 

Amount 

(`) 

Creditors   15,000 Buildings  1,00,000 

Bills Payable 15,000  Machinery  20,000 

Bank Loan 60,000 Stock  80,000 

Loan from Pushpa’s Daughter 65,000 Bills Receivable 60,000 

General Reserve  40,000 Furniture 40,000 

Capitals :  Cash at Bank 30,000 

 Pushpa 35,000    

 Suma 45,000    

 Soonam   55,000 1,35,000   

 3,30,000  3,30,000 

     .    

      :  

 (1)      :  

   ` 95,000 

     ` 55,000 

     ` 75,000 

   ` 24,000 

   ` 37,500  

 (2)   65,000      10% 

  .  

 (3)   5,000   .  

  6,000   .  

   .  ( : 6) 
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14. (A) The following was the Balance Sheet of Ansar, Bose and Cheriyan who share 

profits and losses in the ratio of 6 : 5 : 3.  

Balance Sheet as on 31-12-2015 

Liabilities 
Amount 

(`) 
Assets 

Amount 

(`) 

Creditors   18,000 Land & Buildings 48,000 

Bills Payable 6,000 Furniture 7,000 

Capitals :  Stock 28,000 

 Ansar 38,000  Debtors 25,200 

 Bose 32,000  Cash  1,800 

 Cheriyan      16,000 86,000   

 1,10,000  1,10,000 

  They agreed to take Singh into partnership and give him a 1/8th share on the 

following terms :  

  (a) that Singh should bring in ` 8,400 as goodwill and ` 14,000 as his capital.  

  (b) that furniture be depreciated by 10%. 

  (c) that stock be depreciated by 10%.  

  (d) that a provision of 5% be created for doubtful debts.  

  (e) that the value of Land & Building be ` 62,000.  

  (f) that after making the adjustments the capital accounts of old partners be 

adjusted on the basis of the proportion of Cheriyan’s capital to his share in 

the business i.e., actual cash to be paid off to, or brought in by the old 

partners as the case may be.  

  (g) The old partners to continue to share profits in the same proportion as 

before.  

  Prepare Profit and Loss Adjustment Account, Cash Account and Balance Sheet of 

the new firm.  (Scores : 8) 

OR 
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14. (A) 6 : 5 : 3     , ,  

      : 

Balance Sheet as on 31-12-2015 

Liabilities 
Amount 

(`) 
Assets 

Amount 

(`) 

Creditors   18,000 Land & Buildings 48,000 

Bills Payable 6,000 Furniture 7,000 

Capitals :  Stock 28,000 

 Ansar 38,000  Debtors 25,200 

 Bose 32,000  Cash  1,800 

 Cheriyan   16,000 86,000   

 1,10,000  1,10,000 

   1/8    - 

    :  

  (a)  8,400   14,000     

.  

  (b)  10%  . 

  (c)   10%  . 

  (d)  5%   .  

  (e)    62,000  . 

  (f)   ,    

     

    ; 

      

.  

  (g)      .   

     &   ,  

,    .  ( : 8) 

 
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14. (B) Following in the Balance Sheet of P & Q who share profits in the ratio of 3 : 2.  

Balance Sheet as on 31-3-2015 

Liabilities 
Amount 

(`) 
Assets 

Amount 

(`) 

Creditors   30,000 Cash in hand 4,500 

Capitals :  Debtors 18,000 

 P 45,000  Stock 22,500 

 Q      30,000 75,000 Furniture 15,000 

  Machinery 45,000 

 1,05,000  1,05,000 

  R is admitted on April 1, 2015 on the following terms :  

  (1) R is to bring in ` 22,500 as capital and ` 7,500 as premium for Goodwill for 

1/6 share.  

  (2) The value of stock is reduced by 10% and Machinery is appreciated by 10%.  

  (3) Furniture is revalued at ` 13,500.  

  (4) A provision for doubtful debts is to be created at 5% on Debtors.  

  (5) The firm has an investment of ` 2,000 which is not shown in the Balance 

Sheet.  

  Record the journal entries and prepare Revaluation Account on admission of the 

new partner.  (Scores : 8) 
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14. (B) 3 : 2     P- Q-   

   : 

Balance Sheet as on 31-3-2015 

Liabilities 
Amount 

(`) 
Assets 

Amount 

(`) 

Creditors   30,000 Cash in hand 4,500 

Capitals :  Debtors 18,000 

 P 45,000  Stock 22,500 

 Q      30,000 75,000 Furniture 15,000 

  Machinery 45,000 

 1,05,000  1,05,000 

  2015  1  R     

  :  

  (1) 1/6    R, 22,500   7,500  

  . 

  (2)   10%   10%  

. 

  (3)   13,500  .  

  (4)  5%  .  

  (5) ,    2,000  

. 

          

   . ( : 8) 
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PART – B 
   ANALYSIS OF FINANCIAL STATEMENTS  
      (Maximum Scores : 40) 
 
1. When all debentures are redeemed, balance in the debenture redemption fund account is 

transformed to :  

 (a) Capital Reserve  

 (b) General Reserve 

 (c) Contingent Reserve 

 (d) Statement of Profit and Loss    (Score : 1) 

 

2. A company can issue its shares at a discount :  

 (a) after one years of incorporation  

 (b) after two years of incorporation 

 (c) after one year of commencement  

 (d) after 18 months of commencement   (Score : 1) 

 

3. The profits on re-issue of forfeited shares in transferred to :  

 (a) Capital Reserve  

 (b) General Reserve  

 (c) Capital Redemption Reserve  

 (d) Revenue Reserve    (Score : 1) 

 

4. While preparing statement of profit and loss, the sale of which the price may be 

received over a number of years will be included as an item of revenue. Here, the 

assumption is known as :  

 (a) Going concern postulate  

 (b) Money measurement postulate  

 (c) Realisation postulate  

 (d) None of the above    (Score : 1) 
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PART – B 
   ANALYSIS OF FINANCIAL STATEMENTS  
      (Maximum Scores : 40) 
 

1.        
     ? 

 (a) Capital Reserve  

 (b) General Reserve 

 (c) Contingent Reserve 

 (d) Statement of Profit and Loss    ( : 1) 

 

2.         

 (a)       

 (b)      

 (c)      

 (d)    18  ( : 1) 

 

3.       

  ?  

 (a) Capital Reserve  

 (b) General Reserve  

 (c) Capital Redemption Reserve  

 (d) Revenue Reserve    ( : 1) 

 

4.   ,    

     .   

    ?  

 (a) Going concern postulate  

 (b) Money measurement postulate  

 (c) Realisation postulate  

 (d) None of the above    ( : 1) 
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5. Write the journal entry to record the forfeiture of shares issued at a discount, where 

share allotment and first call is made.    (Scores : 2)  

 

6. Green Deal Co. Ltd. purchased a machine from Agro Machineries Ltd. for ` 3,60,000 

and issued shares of ` 100 at a discount of 10%.  

 (a) How many shares should be issued to Agro Machineries Ltd. ? 

 (b) Give journal entry to record the share issue.  (Scores : 3)  

 

7. Explain any three limitations of Ratio Analysis.  (Scores : 3) 

 

8. Show the following liabilities in the Balance Sheet of Beta Ltd. as per revised    

Schedule VI as on 31st March, 2014. Show notes to accounts also :   

   ` 

 (1) Share Capital  5,00,000 

 (2) 9% Debentures 1,00,000 

 (3) Securities premium  2,000 

 (4) Preliminary Expenses  4,000 

 (5) Statement of Profit & Loss 15,000 (Scores : 3) 

 

9. Give journal entries for the following :  

 (a) Issue of ` 2,00,000, 8% debentures of ` 100 each at a discount of 5% repayable at 

par.  

 (b) Issue of ` 2,00,000, 8% debentures of ` 100 each at a discount of 5% but 

redeemable at premium of 5%.    (Scores : 4) 
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5.         

   . ( : 2)  

 

6.   .     . 3,60,000   

 100    10%    

. 

 (a)    .     ? 

 (b)     .  ( : 3)  

 

7.       . 

      ( : 3) 

 

8.   VI  2014  31-   . 

   .   

.    

   ` 

 (1) Share Capital  5,00,000 

 (2) 9% Debentures 1,00,000 

 (3) Securities Premium  2,000 

 (4) Preliminary Expenses  4,000 

 (5) Statement of Profit & Loss 15,000 ( : 3) 

 

9.     :  

 (a) 8%     2,00,000  5% 

     .  

 (b) 8%     2,00,000  5% 

      5%  . 

      ( : 4) 
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10. Calculate the trend percentage from the following figures of sales, stock and profit of 
Gaya Ltd., taking 2010 as the base year.  

(` in lakhs) 

Year Sales 

(`) 

Stock 

(`) 

Profit 
before Tax 

(`) 

2010 3,762 1,418 642 

2011 4,680 1,562 870 

2012 5,310 1,632 916 

2013 6,042 1,888 1,054 

2014 7,536 2,308 1,254 

 Analyse the Trend Percentage.    (Scores : 4) 

 

11. Jins International Ltd. invited application for 60,000 share of ` 100 each at a premium 

of ` 20 per share payable as follows :   

On application  ` 30 

On Allotment  ` 40 (including ` 20 premium) 

On First Call  ` 30 

On Second & Final Call  ` 20 

 Applications were received for 80,000 shares and pro-rata allotment was made on the 
application for 70,000 shares. Excess application money was utilised towards allotment.  

 Russo who applied for 2100 shares failed to pay first call and his shares were forfeited 
immediately after first call.  

 Record Journal.   (Scores : 4) 

 

12. Calculate the Trade receivable turnover ratio from the following information :  

Total Revenue from operations :  ` 6,00,000 

Cash Revenue from operations :  20% of Total Revenue from operations  

Trade receivables as on 1-4-2013 60,000 

Trade receivables as on 31-3-2014 1,80,000 (Scores : 5) 
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10.     , ,   
  2010      
.  

(` in lakhs) 

Year Sales 

(`) 

Stock 

(`) 

Profit 
before Tax 

(`) 

2010 3,762 1,418 642 

2011 4,680 1,562 870 

2012 5,310 1,632 916 

2013 6,042 1,888 1,054 

2014 7,536 2,308 1,254 

     . ( : 4) 

 

11.   . 100   60,000  20  
     :   

On application  ` 30 
On Allotment  ` 40 (including ` 20 premium) 
On First Call  ` 30 
On Second & Final Call  ` 20 

 80,000    70,000  
 -    . 
       
.  

 2100   ,     
.        
. 

  .   ( : 4) 

 
12.          

.  

Total Revenue from operations :  ` 6,00,000 

Cash Revenue from operations :  20% of Total Revenue from operations  

Trade receivables as on 1-4-2013 60,000 

Trade receivables as on 31-3-2014 1,80,000 

     ( : 5) 
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13. (A) From the following information, prepare Cash Flow Statement for Rolls Roys Ltd. : 

        Balance Sheets of Rolls Roys Ltd. 

 
31-3-2014 

` 
31-3-2013 

` 

I. Equities and Liabilities   

 1. Shareholders’ Fund :   

  (a) Equity Share Capital 3,50,000 2,50,000 

  (b) Reserves & Surplus (profit) 1,75,000 1,00,000 

 2. Non-current Liabilities :   

  Long-term loan 25,000 50,000 

 3. Current Liabilities :   

  (a) Trade payable 22,500 25,000 

  (b) Rent payable 3,500 2,500 

  (c) Short-term provisions   

   (i) Proposed dividend 35,000 25,000 

   (ii) Provision for tax 25,000 15,000 

                      Total 6,36,000 4,67,500 
   

II. Assets :   

 1. Non-current assets   

  (a) Fixed Assets   

   (i) Tangible Assets :   

     Equipment 1,15,000 1,00,000 

     Furniture 1,35,000 1,50,000 

   (ii) Intangible Assets :   

     Patents 47,500 50,000 

  (b) Non-current investments 50,000 – 

 2. Current Assets :   

  (a) Inventories 65,000 25,000 

  (b) Trade receivables 60,000 40,000 

  (c) Cash in hand 13,500 2,500 

  (d) Bank 1,50,000 1,00,000 

                      Total 6,36,000 4,67,500 

  Additional Information : 

  During the year, equipment costing ` 40,000 was purchased. Loss on sale of 
equipment amounted to ` 2,500. Depreciation of ` 7,500 and ` 1,500 charged on 
equipment and furniture.  (Scores : 8)  

OR 
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13. (A)        

 .  

        Balance Sheets of Rolls Roys  Ltd. 

 
31-3-2014 

` 
31-3-2013 

` 
I. Equities and Liabilities   
 1. Shareholders’ Fund :   
  (a) Equity Share Capital 3,50,000 2,50,000 
  (b) Reserves & Surplus (profit) 1,75,000 1,00,000 
 2. Non-current Liabilities :   
  Long-term loan 25,000 50,000 
 3. Current Liabilities :   
  (a) Trade payable 22,500 25,000 
  (b) Rent payable 3,500 2,500 
  (c) Short-term provisions :   
   (i) Proposed dividend 35,000 25,000 
   (ii) Provision for tax 25,000 15,000 

                                                         Total 6,36,000 4,67,500 
   

II. Assets :   
 1. Non-current assets :   
  (a) Fixed Assets :   
   (i) Tangible Assets :   
     Equipment 1,15,000 1,00,000 
     Furniture 1,35,000 1,50,000 
   (ii) Intangible Assets :   
     Patents 47,500 50,000 
  (b) Non-current investments 50,000 – 
 2. Current Assets :   
  (a) Inventories 65,000 25,000 
  (b) Trade receivables 60,000 40,000 
  (c) Cash in hand 13,500 2,500 
  (d) Bank 1,50,000 1,00,000 

                      Total 6,36,000 4,67,500 

    : 

   40,000   .   
  2,500 .  7,500   
1,500   .  ( : 8)  

 
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13. (B) Calculate cash from operating activities from the following information :  
                               Statement of profit for the year ended March 31, 2014 

Particulars   
Amount 

` 

(i) Revenue from operations   75,000 

(ii) Other Income :    

 (a) Profit on Sale of Machinery 3,000   

 (b) Income Tax Refund 4,500  7,500 

(iii) Total Revenue (i + ii)   82,500 

(iv) Expenses :    

 Cost of Material Consumed   22,500 

 Employees Benefits Expenses   15,000 

 Depreciation   7,500 

 Goodwill Amortised   3,000 

 Other Expenses :    

  Rent 15,000   

  Loss on sale of equipment 4,500    

  Provision for taxation 12,000  31,500 

   79,500 

(v) Profit before tax (iii – iv)   3,000 

  Additional Information :  

   

    1-4-2013 

   ` 

 1-4-2014 

  ` 

Provision for Taxation 15,000 19,500 

Rent Outstanding 3,000 3,750 

Trade Payable 31,500 37,500 

Trade Receivable 22,500 31,500 

Inventories 37,500 33,000      (Scores : 8) 

_____________ 
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13. (B)       
   :  

                               Statement of profit for the year ended March 31, 2014 

Particulars   
Amount 

` 

(i) Revenue from operations   75,000 

(ii) Other Income :    

 (a) Profit on Sale of Machinery 3,000   

 (b) Income Tax Refund 4,500  7,500 

(iii) Total Revenue (i + ii)   82,500 

(iv) Expenses :    

 Cost of Material consumed   22,500 

 Employees benefits Expenses   15,000 

 Depreciation   7,500 

 Goodwill Amortised   3,000 

 Other Expenses :    

  Rent 15,000   

  Loss on sale of equipment 4,500    

  Provision for taxation 12,000  31,500 

   79,500 

(v) Profit before tax (iii – iv)   3,000 
    

    :  
    1-4-2013 

    ` 

    1-4-2014 

  ` 

Provision for Taxation 15,000 19,500 

Rent Outstanding 3,000 3,750 

Trade Payable 31,500 37,500 

Trade Receivable 22,500 31,500 

Inventories 37,500 33,000 ( : 8) 

_____________ 
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